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Questions

Roots of the equation X2+ 5x-1=0are

Roots of the equation X2+ 2x+ 3 =0 are

The roots of the equation ax2+ bx + x = 0 are real and distinct if

The roots of the equation ax2+ bx+c =0 are complexiimaginary if

The roots of the equation ax2+ bx + ¢ = 0 are real and equal if

If S and P are the sum and the product of roots of a quadratic equation, then the quadratic
equation is

Question Image

If 3x%+ 4x3+ x - 5 is divided by x + 1, then the reminder is

If x3- x2+ 5x+ 4 is divided by x - 2, then the reminder is

If x*- 10x2- 2x + 4 is divided by x + 3, then the reminder is

If 33+ 4x3- 2x +5 is divided by x - 1, then the reminder is

If a polynomial P(x) is divided by x + a, then the remiander is

23+ 3x+9isa

If x3+ ax?- a?x - aJis divided by x + a, then the remainder is

If a polynomial P(x) is divided by x - a, then the remainder is
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. Rational

. Irrational

. Complex

. None of these

. Real and equal

. Real and distinct
. Complex

. None of these

. b<sup>2</sup>- 4ac &lt;0

. b<sup>2</sup>- 4ac =0

. b<sup>2</sup>- 4ac &gt; 0
. None of these

. b<sup>2</sup>- 4ac &lt; 0
. b<sup>2</sup>- 4ac =0

. b<sup>2</sup>- 4ac &gt; 0
. None of these

. b<sup>2</sup>- 4ac &lt; 0
. b<sup>2</sup>- 4ac =0

. b<sup>2</sup>- 4ac &gt; 0
. None of these

. X<sup>2</sup>+ Sx-P =0
. X<sup>2</sup>- Sx+P =0
. X<sup>2</sup>- Sx-P =0
. X<sup>2</sup>+ Sx+P =0

. cla
.-cla
.b/a
.-b/a

1
.0
.4

None of these
.8
.6

.4
. None of these

. P(a)

. P(-a)

. P(0)

. None of these

. Polynomial of degree 3
. Quadratic equation

. Cubic equation
. Polynomial of degree 2

.0

. a<sup>3</sup>

. 2a<sup>3</sup>
. -2a<sup>3</sup>

. P(0)
. P(-a)

. P(a)
. None of these
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The quadratic formula is

The solution set of x2- 5x + 6 = 0 is

5x3+ 3x - is a

Question Image

Question Image

Question Image

w2=

X 3x3+ 3x+ 1 =0is called

Question Image

41X 41%= 10 is called

Roots of the equation X2- x=2 are
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None of these

. Polynomial of degree 2
. Polynomial of degree 1
. Polynomial of degree 0

. Polynomial of degree 0

. Quadratic equation
. None of these

Linear equation

. Cubic equation
. None of these

. Polynomial of degree 0
. Polynomial of degree 1
. Polynomial of degree 2
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0
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. Exponential equation
. Radical equation
. None of these

. Reciprocal equation
. Exponential equation

. None of these
. Reciprocal equation

. Radical equation
. None of these



